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A B R F e moE O F R OB OE % K B 463 t
[E3Z 399 t ] _ [BE 64 t ]
B AWMEIZEMBES AL 8 % bbb M ATWEXFIERB AL GV _ RE

| i \ o H fr: M (BEAR)

o g TEEH | B | & E % 15 m - B FEEH | B A | & E 7 fE
N WA & 200 g 86 43 || N RBDA oAk 400 g 432 —
LA = B 250 g 75 54 | T = I 250 g 324 —
ZEDIR & [ 200 g 64 43 | b Foak L 4 ke 4, 320 3, 240
IE5NAED = B 200 g 86 64 | B9 ¢& D o 200 g 540 378
Fh¥ = B 8 ke 3, 024 1,620 | FF a7 &= B 300 g 345 216
Ly AEL K BR 160 g 86 64 | T—NARATY B 9 ke 8, 640 5, 400

— — — — il IRCRAV/E ' F 16 ke 5, 400 —
ANV = A& 10 ke 1, 404 756
TEEEICA U A &k IF 10 ke 1, 404 648
< & 5 B 15 ke 1, 404 972
S D * R 10 ke 972 —
VA X £ ¥ 10 ke 1, 728 756
Zwo Y CER 5 ke 1,944 1, 296
Aarn L= 51 5 ke 1,512 —
<k g1 4 ke 1, 404 756
Py 5 = 150 g 43 —
x> Foak L 10 ke 6, 480 —
L x ® IF 10 ke| 1,944 1, 620
mERE T E 10 ke 1, 404 1,188
A LW ™ B 100 g 162 70
LHT E B 100 g 48 37
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B ARRIZAESAL 6 %m Amc (A 30t]  [AE st]  [&F 16t]
| B (A

i g R +

T g FEEM | B ff | & & = e AT H FEEM R | & B | £ E
HEESHE AL 1 ke 1,792 270 | Y% FTAUD 1 ke 3, 240 972
mESAHHE AL 1 ke 1,296 896 | YN J N o — 1ke 1,188 432
7Y oA 1 ke 1, 620 162 | %o = =S 1 ke 1, 836 1,296
Ay A ) 1 ke 1, 890 108 || AHi w [ 1ke 1,512 1, 080
AT JbiEE 1 ke - 648 86| FU A £ E 1 kg 3, 564 1,188
AVRAA T A 1ke 691 432 | BEFY = JeyiEE 1 £ 172 54
EANTF = 1ke 1, 350 540 |
E&A = 1 ke 1, 404 216
&&= F 1 ke 1, 944 540

T e 1ke 1,080 | - 378

AN ) = 1 ke 4, 050 1, 350

)
Al
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o
INE PN 1 kg 2, 160 54
Z
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W

77 Foak 1 ke 1, 296 248




